
SAP ABAP table UCF003G {Layouts: GUID}

UCF003G

MANDT [CLNT (3)]

LAYOUTID [CHAR (22)]

APPL [CHAR (2)]

KEY03 [CHAR (8)]

METHTYPE [NUMC (2)]

T000

MANDT [CLNT (3)]
 UCF003G-MANDT = T000-MANDT 

0..N

0..N

UCF000C

APPL [CHAR (2)] UCF003G-APPL = UCF000C-APPL 0..N

0..N UCF003C

MANDT [CLNT (3)]

APPL [CHAR (2)]

KEY01 [CHAR (8)]

KEY02 [CHAR (8)]

KEY03 [CHAR (8)]

METHTYPE [NUMC (2)]

 UCF003G-KEY03 = UCF003C-KEY02 

0..N

0..N

UCF005C

METHTYPE [NUMC (2)]

 UCF003G-METHTYPE = UCF005C-METHTYPE 

0..N

0..N


